Cagunus Team . January Recionat  Question 1

Fore U+ 100+ 90"+ 822+ T+ 6 .. g(x) =cos(x?)

h) =[x P H=re'

A= (3

B~ y(r) -

C= i

Carcuous Team - Javuary Reciona,  Question 4

‘A = The number of points of inflection of cos(2x) on [0, 4x]

'+ 84 12
sinx )

C = The number of values of ¢ on [0, 2] that satisfy the Mean Value Theorem for derivatives
for f{x) =cosx. . . . o

B = The average value of on (—ee, =)

" Find: A" C.

D= x(0)

- Cavcuus Teans January REGioNat.  “Question 2

Find A+ B+ C+D

) AR
A= lim|--=
I,,hm Lhﬂlu
- T
B=lim i mawn 2
y =l U,
C = lim cos{m+ i)+ 1
bl h.
; . §in5x
D=1
,_L:“ x

| Find A*B*C*D

CaLcuLus Team - JANUARY REGIONAL . Question 3

1
2
) =(x -6 —Hx-0)+2
alrr=rt—drt+ 1
v{x) ==3In{x")

)=

A = The intervals where 5(x) 15 decreasing

B = The intervals where t{x) is increasing

C = The intervals where u(x} is concave down
D = The intervals where v(x} is concave up

FindAuwBuwCub
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Catetnys Team- January Reciona,  Question § . S -

¥
i

_Let C be the curve in R’ defined by x =%, ¥ = 41", =9, for 12 0. Calculate the distance along
Ctrom (1,4,9)10(16,32,36) - - - o L

Caccoos Team - Januaky REGIONA,  Question 6

. 2
Find the area of the ellipse (x Iz\MVM + % =81,

1§ the function f{x) is continuous and differentiable for all x and £ '(2)=3 .1 "(x)=0 and

£f(3) =12, find the equation for the function f(x).

Carcyis Team - January Rugiona.  Question 8

A A E.c n nM
_ 2t =16 % = =9 % mlaaéﬁu 12 Ce [0, 4]
[ X + M. AT

Find: |A*B*C|




Carcns Team . Javuary Regional  Question 9

x :

(x—1)

Hx)=

g{x)=xsmx A{x)=xe"+2*

Find:  £{D+g " (mi+h" (1),

s Teasn - Janvary Regional  Question 10

Given vi{x) = g(h(x) w{x) = h(g(x) s(x} nﬁ :....._VH‘__T.FL
r(-1)=-3 A{l)y=-2 h{=3)=1 h(l)=6
§CG3=1 p(-2)=-3 g)=-3 g (-3)=3 gt=; g=1

=M=  [=2=7 fyp=! 1ED=1 =2 f@m=2

Caccunis Team - January Ricionar  Question 11

X+ ~15

Find all asymptotes ef g(x) = .
ymne & r-51+6

Catcunis Teant - TaNUARY REGIONAL Question 12

The base of a solid is the region between the parabolas x=y? ard x=3-2v. Find the volume of
the solid given that the cross sections perpendicular to the x-axis are rectangtes of height 2.






